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Vermischte Aufgaben - Blatt 5

Lésung Al

a) |V36=32=9

b) | V48 =42 =16

c) |V2i5=23=38

d) |V39=33=27

e) | V4t =43 =64

) | (¥a)' =Va?

9) (‘{/‘)4 v——b
h) | (%) = Vx5 = x¥x2
) (3y2)3—y

D) | (V22) =V =23z
Losung A2

a) | Ya®b® = a?b?

b) | Vx12y® = x%y?

C) Va3 =+a

d) | Vp2=1b

o) | Vity*t =1y

f) |JVBl=48T=3
9) |6 =64 =2
h) | VVea = /64 = 2
i) W=Vm=2
) |JVi6=¥16=2
Losung A3

a) |Wat=Vai=qa
b) | V¥bs = Vb8 = b
) | Weo=Yd=c
d) | VVx8 = Va8 = x2
e) |° Y12 = $[ylZ = y2
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f) | Via* =Va* =
9) | Y¥p° = ¥5° =
12/°10 —

h) |3/% 10 —

Do e=r=y- 7=y

Losung A4
1
a) |S=ai=%a
a4
3 3 1
b) \/)i_zsz:xE:\/E
x6
_1
c) |Z2=1
5n—1
1
d 1\7%e _ (1) _
) (4) )_(4) =4
e) ﬁ_z_x_ 2xV5 _ 2xv5
592 y+5 y+5+45 5y
2
0 | E -
1
g) /x3y2-ﬁ=x'\/§
3[x
h) \/; - L -1
3[xy? ?{/F y
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